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TEST- 06 Chemical Bonding
QUESTIONS

SECTIONS

1. MCQs - 50 Questions

Section 1 : MCQs - 50 Questions

1 If a molecule MX3 has zero dipole moment, the sigma bonding orbitals used by M (atomic number <
21) are

gfe 3ro) MX3 B X7 fgga 3myut 8, @ M (RUT0] T=T < 21) §RT IUANT fHT o1 ara Rpan d¢ e §

O Purep, Y p

O sp hybridized , sp bRd

O sp? hybridized ,sp* HbRd

O More than one of the above G'Cl'éaﬁ s i Dy

O None of the above STJdd & ¥ CAER

Correct: +2

2 The ion that is isoelectronic with CO is dg 3T+ i CO & 914 H’H%ﬁﬂavﬁﬁ? %

O CN

O 0,"
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O 0y

O More than one of the above IUJdd H I TH ¥ 3HTAH

O None of the above B’q?jTﬁ AR

Correct: +2

3 Which one among the following does not have the hydrogen bond? fFafifEd ¥ & fud grggior ¢ =gt

?

O Phenol ftsra

O HCI1

O More than one of the above 3Udad J ¥ U& ¥ 3{fIh

O None of the above B'EREIEH T PIs Tal

Correct: +2

4 Of the following compounds which will have a zero dipole moment? fFufafEd Tiftret o & feaeT feya
SiTeut 3 EXm?

O 1, 1-dichloroethylene 1, 1-STSFIRISIITH

O cis-1, 2-dichloroethylene R19-1, 2-SRaARIg

O trans-1, 2-dichloroethylene ¢i¥-1, 2-S3dARIS el
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O More than one of the above Iuddd H I TH ¥ 3HTAH

O None of the above B’q?jTﬁ AR

Correct: +2

5 Which of the following is paramagnetic ? fFEffaa ¥ & &1 a1 srqgasia 87

O Oy

O CO

O More than one of the above B'C@Tﬁ e Th T 3Hfp

O None of the above B'U'?EIHH T PIs Tal

Correct: +2

6 The type of hybrid orbitals used by the chlorine atom in ClO, is Cl0; ¥ TR WA gRT I9ANT frg
W AT PR HED BT UBR 8

O More than one of the above G'Cléilﬁ e Th T 3Hfp
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O None of the above dl-lgidd T DI T8l

Correct: +2

7 The maximum possible number of hydrogen bonds a water molecule can form is LiEik| 3] Sferpan
UG =T H gIssioH a4 g1 9Pl @

O More than one of the above Suddd T I TH U 3HTAH

O None of the above B'qg?ﬁ AR

Correct: +2

8 Among the following species, identify the isostructural pairs NF3, NO3 , BF3, H;0, N;H

fFrafafaa yenfaal # 9, 99 - SRET® g 3 UgaHE &8 NF;, NO;3 |, BF3, H307, N3H
O [NF3,NOj3 ] and [BF;, H;0']
O [NF3, N3H] and [NO; ™, BF;]
O [NF3, H;0"] and [NO;~, BF;

O More than one of the above B'Clé?ﬁ A AP I D
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O None of the above dl-lgidd T DI T8l
Correct: +2

9 The correct order of increasing C—O bond length of CO, CO32_, CO, is

CO, CO32™, COy B C-0 ¢ TaTS g¢1 &1 T HH ?

O €032 <C0O,<CO

O C0O,<C05* <CO

O CO,<CO5* <CO,

O More than one of the above GT@EH T TH 9 P

O None of the above G'CI?EIER'I T PIs ol

Correct: +2

10 In compounds of type ECl3, where E = B, P, As or Bi, the angles CI-E—CI

ECl3 YR & difiiel §, 58T E = B, P, As 9T Bi, $101 CI-E—Cl

O B>P=As=Bi

O B>P>As>Bi

O B<P=As=Bi

O More than one of the above G'Cléilﬁ e Th T 3Hfp
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O None of the above B’Cl?iaﬂ T Pls Tal

Correct: +2

11 Which of the following molecular species has unpaired electron(s)? fFafefad # ¥ fra smurfae yenfa &
g gaTe 2

O Ny

O More than one of the above IUdad H I T& ¥ 3P

O None of the above SUJdd & ¥ s ol

Correct: +2

12 Which of the following are isoelectronic and isostructural? NO3 , CO32_, Cl05 , SO3

FrafafEa # ¥ #19 aagdee e R TR 82 NO; , CO5%, Cl0; -, SO;

O NO; , CO5%~
O SO3,NO;~
O ClO;, CO5%~

O More than one of the above wjaa AT ¥ AU
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O None of the above dl-lgidd T DI T8l

Correct: +2

13 According to MO theory MO fid & R

O 0O," is paramagnetic and bond order greater then 02027L TIDI § qUT §Y HH 0, ¥ §T g

O 0, is paramagnetic and bond order less then 0,0, SIHTHIT § TUT & HH O BT ?

O 0," is diamagnetic and bond order less than 0,0, UfAGEH § TUT 54 HH O, VBT ®

O More than one of the above IUdad H I U& ¥ 3P

O None of the above SUJdd & ¥ s ol

Correct: +2

14 Stability of the species Liy, Li, and Li," increases in the order of

Liy, Liy 3R Liy™ Ueriferal 31 fRU=a1 &1 a1 4 giaT 3|

O Liy<Li," <Li,

O Liy, <Li,"<Li,

O Liy<Li, <Liy"

O More than one of the above IuJdd H I TH ¥ 3HTAH
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O None of the above dl-lgidd T DI T8l

Correct: +2

15 Assuming 2S—2p mixing is not operative, the paramagnetic species among the following is

a5 A §U 6 25-2p g firamsita =8t 3, Fufafea & @ srggesta wonfa &

O Bep

O By

O G

O More than one of the above 3Udad H I T& ¥ 3fUH

O None of the above IUJad H I I3 ol

Correct: +2

16 Which of the following elements has the strongest tendency to form covalent compounds :

fFrafafae & A foy aa & Teaaee Afe a9 @) 999 uad ugf 8:

O Be

O Ca

O More than one of the above B'Clé?ﬁ e Th J 3Hfp

O None of the above STJdd | ¥ I3 ol
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Correct: +2

17 Element A has 3 electrons in outermost shell and element B has 6 electrons in outermost shell. The
formula of compound formed between A and B would be :

dTd A & TaQ T8 PN A 3 3AI 8 3R dd B F JaA I8 S H 6 3ad 81 A 3R B & diw 79
a1 NS TG SRM:

O AyB;3

O AyBg

O AB

O More than one of the above SUddd I I Th ¥ HfAH

O None of the above B’EREIEH A A DIs ol

Correct: +2

18 The phosphate of a metal M has the formula MHPO,. The formula of its oxide would be :

4Ty M & Biehe &1 g3 MHPOy 71 9% JTaITSS BT g §HL:

O Mzo

O MO

O MO,

O More than one of the above G'C@Tﬁ e Th T s

O None of the above dl-lgidd T DI T8l
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Correct: +2

19 The most volatile compound among the following is : FEfIREad & ¥ T fere aroasia e &:

O HCI1

O HBr

O More than one of the above B'Cl?i?ﬁ A UPH T 3D

O None of the above B'qq?ﬁ T ¥ PS8l

Correct: +2

20 The types of bonds present in CuSO4.5H,O are only :

CuS04.5H,0 ¥ IURRA §¢ & YPHR Had &:

O Electrovalent and covalentfdggawiaist 3R Tgxdrei

O Electrovalent and coordinatefdggawarstt 3R IU-TgdIcTdH

O Electrovalent, covalent and coordinate faggasarst, Ggadren 3R IU-Hgudod

O More than one of the aboveE'q?jTﬁ Y Th T 3

O None of the above3 Hg:ch-l T DI T8l

Correct: +2

21 The bond between two identical non-metal atoms has a pair of electrons :
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QT JruTg WATISH & ft ¥y § saaerl 9 Ue T a7

O Unequally shared between the twogH} & dT& SGHM =0 I AT {071 91T §

O Transferred fully from one atom to anotherTd TRHTY] ¥ GIR URATY & G¥I AR I RIFIARd fdbar ST g

O Equally shared between them3-1d a1 THM ¥ I W1gM foar STl 8

O More than one of the aboveB'q?jHH =k Th T 3fp

O None of the above3 u{icm T Dl Tl

Correct: +2

22 The bonds present in N,Os are :

N,O5 ® SufRyd 94 §:

O Only ionic Hdd D

O Covalent and coordinateguaSI® 3R IJU-TgTaold

O Only covalent hdd HgHTeIdh

O More than one of the above3IUdad # ¥ TH ¥ 3

O None of the aboveBU?j?ﬁ T o3 T8

Correct: +2

23 The electronic structure of the four elements (I), (II), (III), (IV) are

D 1s! (II) 1522522p2
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(11D 1s22s22p° (IV) 1s22s%2p®

The tendency to form electrovalent bond is largest in :
IR awl (1), (1), (111), (IV) B FASE P 61 §6 UPR 3
@) 1s! 1) 1s22s%2p>

(IIT) 1522s22p5 (Iv) 1522522p6

Frqga-wieitef Gy 9T ) vgfy el ot e B &

O II

O HI

O More than one of the above3ITdad # ¥ TH I 31w

O None of the aboveB”CRj?ﬁ Y DI o

24 There is no S—S bond in :

TR P13 S-S Y T8 g o

O $,04%”

O $,05%”

O S$,0.%

O More than one of the abovelIUdad & ¥ U&h ¥ 31ferd
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O None of the aboveE‘q?iGH T DI T8l

Correct: +2

25 Which contains both polar and non-polar bonds?

o gfdi SR arydig gt 9 g 82

O NH,CI

O HCN

O Hy0,

O More than one of the above?q?jaﬂ T U O 3P

O None of the above@éﬁﬂ 7 PIs Tal

Correct: +2

26 The number of S—S bonds in sulphur trioxide trimer (S30y) is :

TP eTg RIS S fRWR (S3009) H S-S d¢ Ft =T 3:

O More than one of the aboveIuad # I TH I 3w

e

T -
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Correct: +2

27 Among the following the paramagnetic compound is :

Frafafea 9§ @ srggeoty aif® &

O Nay0,

O O3

O KO,

O More than one of the aboveIUded T ¥ U ¥ 31ferd

O None of the aboveITdad & ¥ B gl

Correct: +2

28 Among the following the correct statement is:

frufafea 4 3wt U= &

Between NH; and PH;, NH; is a better electron donor NH3 3R PH3 & &g, NH3 U% S8R 3aidei- ardl §

O because the lone pair of electrons occupies spherical ‘s’@ifd Sadel BI bt JH TATDBR 's' BT W Hooll
orbital and is less directional PRI § 3R HH fAMEHS Bt §

Between NH3 and PH5, PHj is a better electron donor NH3 3R PH3 & 14, PH3 U S8R gaide i aldl &

O because the lone pair of electrons occupies sp3 orbital ifds FaaciHl B 3fabail I sp3 HefT IR Hooll Bl §
and is more directional 3R 3iferp femaTs gidl &

Between NH; and PH3, NHj is a better electron donor NH3 3R PH3 & &9, NH3 T SgaR saide i ardl §

O because the lone pair of electrons occupies sp> orbital &P FaacTl BY 3fbel G sp° HaTT TR PHeoll B! &
and is more directional 3R 3fde fexmaT® gidt @

O More than one of the aboveB'CRjTﬁ =k Th T 3
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O None of the above3 Hg:ch-l T DI T8l

Correct: +2

29 The compound (SiH3); N is expected to be

WP (SiHz); N €1 Bt 3den @

O Pyramidal and more basic than (CHz)3; NRRISTH T (CH;3); N 9 31 &1 817 &t 31def &t Jicht §

O Planar and less basic than (CHz); NEHdH dUT (CH3); N 8 6H &R’

O Pyramidal and less basic than (CH3)3 NIORIES AT T (CH3)3 N q D &R

O More than one of the aboveIUdad T ¥ U ¥ 31

O None of the aboveE’C@EH T B 8l

Correct: +2

30 The highest occupied molecular orbital of HF is:
HF &1 99 SHfIe AT 0D B 3:

O Non-bonding R-gY

O Anti-bondingyfd-s¢

O lonic3{a®H

O More than one of the abovelIudead & ¥ U ¥ 31ferdw

s = :l:l-:!l .
)
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O None of the above3 Hg:qu T DI T8l

Correct: +2

31 The order of polarity of NH3, NF3 and BF; is:

NH3, NF3 3R BF3 @1 {adl &1 59 &:

O NHj; <NF; < BF;

O BF3<NF; <NH;

O BF3<NH; < NF,

O More than one of the above3Iudad # I TH I 31fidh

O None of the aboveludad I I HIg el

Correct: +2
32 Which of the following combination of atoms of A and B forms bonding molecular orbitals:

Fafafaa ¥ S A 8i¥ B & WRUUET &1 Hi4 T1 Ao+ SUSRY ATUfaS HETT I414T 3:

O (YA-¥YR)
O (YA XY¥YR)

O (YA+Y¥YBR)

O More than one of the abovelIUdad & ¥ U ¥ 31ferd

O None of the aboveGTRjTﬁ #Y DI o

Correct: +2

33 Which of the following is true about bond angles in H,S and H,O:
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H,S 3R H,0 ¥ ¥4 B0l & a1} # fFafafad & & o9 91 $3= 9 &

O H20 > HzS

O st > HzO

O H20 >>> st

O More than one of the aboveIudad # ¥ TH I 3fidH

O None of the aboveITad & § HIs el
Correct: +2

34 The true statement for N5 is:

N;~ & fore |t &= &:

O It has non-linear structuresgd! AT TR-AJD g

O TItis pseudo halideds 8 %F'ﬂ%?s’ %

O The oxidation state of nitrogen is —17TSCISH I SHTRINBIVN TR -1 §

O More than one of the above_o”q?iaﬂ AI TP T 3

O None of the aboveGq?iaﬂ U ®Is el

Correct: +2

35 The correct order of increasing X—O—X bond angle is (X =H, F or Cl)

X—O—X §YU B & T¢ FT TSI HH B (X = H, FAT CI)

TEST- 06 Chemical Bonding - MCQs - Questions Page 17 of 33



O Hzo > Clzo > on

O CLO >H,0>F,0

O on > Cle > Hzo

O More than one of the aboveIuead # ¥ TH I 3w

O None of the aboveB'CRi?ﬁ Y PIS ol

Correct: +2

36 How many hydrogen bonded water molecule(s) are associated with CuSO4.5H,0?

CuS0,.5H,0 & A1y fa- grsgior aftd 1d 3] S §U &2

O More than one of the above3IUdad # ¥ TH I 31

O None of the above3Iudad & ¥ ®Is gl

Correct: +2

37 The compound containing co-ordinate bond is

SUAEHAIP d¢ gad AP @

O O3
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O SOj;

O HS04

O More than one of the aboveSUdad & ¥ U ¥ 31w

O None of the aboveBUé?ﬁ U ®Is T8l

Correct: +2

38 The bond angle between H-O-H in ice is closest to

% & H-0-H & §I9 ey ST (Fheaw) T e

O 120°

O 109°

O 105°

O More than one of the aboveE'CRj'cH oY U O 3P

O None of the aboveEt@Tﬁ T PIs ol

Correct: +2

39 BCl; is a planar molecule while NClj is pyramidal, because

BCl; T& aeid 3] g Siafes NCl, fRifrsgan &, wifes

has no lone pair of electrons but has a lone BClj3 A Sl BT Blg SHbdl g g1 5, Al NCl; # geagHI
pair of electrons &1 TP fbhal TH §
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O B-—Cl bond is more polar than N—Cl bond B—Cl §8 N-Cl &9 § 3ifd/e ydia g
O Nitrogen atom is smaller than boron atom TSI URHTY] RI- TRHTY § BICT ?
O More than one of the aboveIWRIad & Th T s

O None of the aboveIWITd & I ?ﬁ—&p el

Correct: +2

40 In BrF; molecule, the lone pairs occupy equatorial positions to minimize

BrF; 319] ®, 3rgfd g YR AT IR Sor 3 dd § a1 a1 w3 far o a&?

Lone pair-lone pair repulsion and lone pair-bond  3fIfd T - 3RgfATd g UfAeHyUr 3R S T - §Y
© g gfdsyul

pair repulsion

O Lone pair-lone pair repulsion only3-gfd T - 3RFAT T UAHYU dad
O Lone pair-bond pair repulsion only3rgfHd g - §¢ g PIRER T
O More than one of the aboveB'CRjTﬁ AT T 3

O None of the aboveB'q?iaﬁ T PIs Tal

Correct: +2

41 In XeF6, oxidation state and state of hybridization of Xe and shape of the molecule are, respectively

XeF6 , ¥, ATRIHUT SawAT 3R Xe & o201 P UM 3R 30 F PR HHw: &

O +6, distorted octahedral+6, fddhd FHAD
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O +4, , square planar+4, & JHIAY

O +6, pyramidal+6, fORIAEd

O More than one of the aboveSUdad & U Td ¥ 3t

O None of the aboveITad & § HIs g
Correct: +2

42 The bond angle and % of d- character in SF6 are
SF6, ¥ §Y PI0T 3R d- G BT % &

O 120°,20%

O 900 33%

O 1099 ,25%

O More than one of the aboveSUdad & ¥ U ¥ 31fed

O None of the aboveB'CléEH HI DI Tl
Correct: +2

43 As the p- character increases, the bond angle in hybid orbitals formed by s and atomic orbitals

S-S p- quf 9¢dT B, s iR WU Feh! gRT FAffa Joe were! # du S gar g

O Decreasesdcdl %

O IncreasesSgdl &
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O DoublesaR[AT

O More than one of the aboveE'CI'*jaﬂ A3 T® T 3t

O None of the aboveGﬂéﬁﬂ Y ®Is el

Correct: +2

44 Which one of the following statements is true for ammonium ion

Mfraw e & fore fPafafRa A A P T HYT el &

O All bonds are ionicHt §¢ MAR® &

O All bonds are coordinate covalent T4t §¢ eI &

O H atoms are situated at the corners of a tetrahedron H URHIY] ¢S4 & il UR fRYd 2

O More than one of the aboveB'CIéiH T3 s 9 3fH

O None of the aboveBﬂﬁaﬁ T BIS 8

Correct: +2

45 Which of the following has prn-dz bonding
fFrafafaa & Q faw pr-dn &Y 3

O NOjy

O COs*
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O BO3*

O More than one of the abovelIUdad & ¥ U& ¥ 31

O None of the aboveITiad & J HIs g1

Correct: +2

46 The number of prn-dz bonds present is XeO3 and XeO,4 molecules, are respectively

XeO3 3R XeO, 3] & JUFRT pr-dn §¢ BT HSAT HH §

O 3,4

O 4,2

O 2,3

O More than one of the abovelIUdad # 9 TH ¥ 3

O None of the aboveB'CRi?ﬁ R CIEE

Correct: +2

47 The type of bonds present in sulphuric anhydride is
IR ® TIe13S15S N IUfRIT §¢ HT PR 3

O 30,3 pn-dn

O 30,1 pn-pn, 2 pr-dr,
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O 20,3 pa-dn

O More than one of the aboveG'Cl{Iaﬂ A3 T® T 3t

O None of the aboveGTIIT;ITJR-[ HY DI T8l
Correct: +2

48 How many and bonds are there in the molecule of tetracynoetheylene

oA RT F o § fpad iRz dU B &

O Nine and nine

O Five and nine

O Nine and seven

O More than one of the above?q?j'cﬁ = & T 34w

O None of the above3 ui;idﬂ T DI Tl

Correct: +2

49 Number of sigma bonds in P40 is

P40, & Rrar sy &Y W @

O 6

O 17
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O More than one of the above3IUdad # ¥ TH ¥ 3

O None of the aboveBﬂ?j?ﬁ T oIs T8

Correct: +2

50 According to Fajan’s rule, covalent bond is favored by

BT & P & IUR | qeaae® 34 frad gRT e gid1 8
O Large cation and small anion ST ¢ 3R Blel BTG
O Large cation and large anion ST I SR TST HOT
O Small cation and large anion®IeT 4TI 3R FET BT

O More than one of the above3IUdad # I TH I 31

O None of the above‘o’q?iaﬁ Y PIs gl

Correct: +2
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TEST

TEST- 06 Chemical Bonding

ANSWERS

SECTIONS

1. MCQs - 50 Questions

Section 1:MCQs - 50 Questions

1 sp?hybridized ,sp? T&d

3 HCI

4 trans-1, 2-dichloroethylene ¢i¥-1, 2-8 SHIRIS

8 [NF3, H;0"]and [NO; , BF;

9 None of the aboveE'CRia?‘l AY ®Is T8

10 B>P>As>Bi

11 0 For more Test Download " The Rasayanam” APP Click @
2
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12 NO;~,CO5%

O," is paramagnetic and bond order greater then O,
13
0o STATH Y § qUT §U HH 0o Y TSI 3

14 Li, <Liy* <Liy
15 G,

16 Be

17 A;B3

18 MO

19 HCI

Electrovalent, covalent and coordinate
20

faggayarsh, Teaic 3R IU-Tgudeid

Equally shared between them
21
I o A =0 1 fobar S g

Covalent and coordinate
22
YeUaeied 3R IU-TggaIeid

23 11

24 5,052
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25 Hy0,

27 KO,

Between NHjz and PH3, NHj3 is a better electron donor because the lone pair of electrons occupies sp° orbital and is more

directional

28
NH3 3R PH3 & a4, NH; U6 J5aR STaEH a1l § i Sadeil B idal I sp° Fefld IR oot el 3 3R 31fid
fereeTes Bict &

Planar and less basic than (CH3)3 N

29
U TUT (CHg)3 N H HH &R

Non-bonding
30 .
R-dy

31 BF3 < NF3 < NH3

32 (Yp+W¥p)

33 Hy,O0>>>H,S

More than one of the above
34
SWFd H 9 TH & 31w

35 CLO>H,0>F,0

37 More than one of the above
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SWad & 4 TH W D

38 109°

has no lone pair of electrons but has a lone pair of electrons
39
BCl, & Soacil &1 $I$ 3l G 8l €, AfebT NCl, & Saiaeil &1 Ueb 3rbetl H &

Lone pair-lone pair repulsion only
40

ST i - 3 T Ul sl had

+6, distorted octahedral
41
+6, fdpd BB

42 909 33%

Decreases
43
Yol g

More than one of the above

I T A TH 31w

None of the above
45

Iued A DI T

46 3,4

47 30 ,1pn-pn,2pn-dn,

48 Nine and nine
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None of the above

49
S § ¥ HE

Small cation and large anion
50
BIeT YT 3R 98T BT
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